

INTEREST & ESTIMATED DIVIDEND SUMMARY

1 JULY 2022 - 30 JUNE 2023

SHARES - 6315762 - HIN 69142249 JM FURBY PTY LTD <JACQUELINE FURBY SF A/C>

Estimated Dividend Summary

ANZ - ANZ GR	OUP HOLDING	SS FPO (O	RDINARY FULL	Y PAID)				
Ex-div date	Payment Date	Туре	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
07-Nov-2022	15-Dec-2022	Final	\$0.7400	2,000	\$0.00	\$1,480.00	\$1,480.00	\$634.29
09-May-2022	01-Jul-2022	Interim	\$0.7200	2,000	\$0.00	\$1,440.00	\$1,440.00	\$617.14
			Sub	Total	\$0.00	\$2,920.00	\$2,920.00	\$1,251.43

ARG - ARGO INVESTMENTS FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
17-Feb-2023	10-Mar-2023	Interim	\$0.1650	10,000	\$0.00	\$1,650.00	\$1,650.00	\$707.14
26-Aug-2022	16-Sep-2022	Final	\$0.1700	10,000	\$0.00	\$1,700.00	\$1,700.00	\$728.57
			Sul	Total	\$0.00	\$3,350.00	\$3,350.00	\$1,435.71

BHP - BHP GROUP LIMITED FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Туре	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
09-Mar-2023	30-Mar-2023	Interim	\$1.3636	1,468	\$0.00	\$2,001.82	\$2,001.82	\$857.92
01-Sep-2022	22-Sep-2022	Final	\$2.5518	1,468	\$0.00	\$3,746.10	\$3,746.10	\$1,605.47
			Sub	Total	\$0.00	\$5,747.92	\$5,747.92	\$2,463.39

CDM - CADENCE CAPITAL FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
14-Apr-2023	28-Apr-2023	Interim	\$0.0400	40,000	\$0.00	\$1,600.00	\$1,600.00	\$685.71
17-Oct-2022	28-Oct-2022	Final	\$0.0400	40,000	\$0.00	\$1,600.00	\$1,600.00	\$685.71
			Sul	o Total	\$0.00	\$3,200.00	\$3,200.00	\$1,371.42

MXT - METRICS MASTER UNITS (ORDINARY UNITS FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
31-May-2023	08-Jun-2023	Interim	\$0.0149	60,000	\$894.00	\$0.00	\$894.00	\$0.00
28-Apr-2023	08-May-2023	Interim	\$0.0140	60,000	\$840.00	\$0.00	\$840.00	\$0.00
31-Mar-2023	12-Apr-2023	Interim	\$0.0144	60,000	\$864.00	\$0.00	\$864.00	\$0.00
28-Feb-2023	08-Mar-2023	Interim	\$0.0129	60,000	\$774.00	\$0.00	\$774.00	\$0.00
31-Jan-2023	08-Feb-2023	Interim	\$0.0144	60,000	\$864.00	\$0.00	\$864.00	\$0.00
30-Dec-2022	10-Jan-2023	Interim	\$0.0135	60,000	\$810.00	\$0.00	\$810.00	\$0.00

MXT - METRICS MASTER UNITS (ORDINARY UNITS FULLY PAID)

Ex-div date	Payment Date	Туре	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
30-Nov-2022	08-Dec-2022	Interim	\$0.0128	60,000	\$768.00	\$0.00	\$768.00	\$0.00
31-Oct-2022	08-Nov-2022	Interim	\$0.0126	60,000	\$756.00	\$0.00	\$756.00	\$0.00
03-Oct-2022	11-Oct-2022	Interim	\$0.0105	60,000	\$630.00	\$0.00	\$630.00	\$0.00
31-Aug-2022	08-Sep-2022	Interim	\$0.0111	60,000	\$666.00	\$0.00	\$666.00	\$0.00
29-Jul-2022	08-Aug-2022	Interim	\$0.0087	60,000	\$522.00	\$0.00	\$522.00	\$0.00
30-Jun-2022	08-Jul-2022	Final	\$0.0090	60,000	\$540.00	\$0.00	\$540.00	\$0.00
			Sul	Sub Total		\$0.00	\$8,928.00	\$0.00

MYS - MYSTATE LIMITED FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
28-Feb-2023	21-Mar-2023	Interim	\$0.1150	3,455	\$0.00	\$397.33	\$397.33	\$170.28
18-Aug-2022	07-Sep-2022	Final	\$0.1150	3,455	\$0.00	\$397.33	\$397.33	\$170.28
			Sub	Total	\$0.00	\$794.66	\$794.66	\$340.56

NAB - NATIONAL AUST. BANK FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
15-Nov-2022	14-Dec-2022	Final	\$0.7800	2,000	\$0.00	\$1,560.00	\$1,560.00	\$668.57
11-May-2022	05-Jul-2022	Interim	\$0.7300	2,000	\$0.00	\$1,460.00	\$1,460.00	\$625.71
			Sub	Total	\$0.00	\$3,020.00	\$3,020.00	\$1,294.28

ORG - ORIGIN ENERGY FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
28-Feb-2023	24-Mar-2023	Interim	\$0.1650	3,505	\$0.00	\$578.33	\$578.33	\$247.85
06-Sep-2022	30-Sep-2022	Final	\$0.1650	3,505	\$144.41	\$433.92	\$578.33	\$185.97
			Sub Total		\$144.41	\$1,012.25	\$1,156.66	\$433.82

ORI - ORICA LIMITED FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
18-Nov-2022	22-Dec-2022	Final	\$0.2200	1,250	\$275.00	\$0.00	\$275.00	\$0.00
31-May-2022	08-Jul-2022	Interim	\$0.1300	1,250	\$162.50	\$0.00	\$162.50	\$0.00
			Sub	Total	\$437.50	\$0.00	\$437.50	\$0.00

S32 - SOUTH32 LIMITED FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
09-Mar-2023	06-Apr-2023	Interim	\$0.0733	1,468	\$0.00	\$107.68	\$107.68	\$46.15

S32 - SOUTH32 LIMITED FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Туре	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
15-Sep-2022	13-Oct-2022	Final	\$0.2513	1,468	\$0.00	\$368.92	\$368.92	\$158.11
			Sub	Total	\$0.00	\$476.60	\$476.60	\$204.26

SGP - STOCKLAND STAPLED (FULLY PAID ORDINARY/UNITS STAPLED SECURITIES)

Ex-div date	Payment Date	Туре	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
29-Dec-2022	28-Feb-2023	Interim	\$0.1180	4,840	\$571.12	\$0.00	\$571.12	\$0.00
29-Jun-2022	31-Aug-2022	Final	\$0.1460	4,840	\$706.64	\$0.00	\$706.64	\$0.00
			Sub	Total	\$1,277.76	\$0.00	\$1,277.76	\$0.00

STO - SANTOS LTD FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
27-Feb-2023	29-Mar-2023	Final	\$0.2236	3,664	\$819.40	\$0.00	\$819.40	\$0.00
22-Aug-2022	22-Sep-2022	Interim	\$0.1093	3,664	\$400.36	\$0.00	\$400.36	\$0.00
			Sub	Total	\$1,219.76	\$0.00	\$1,219.76	\$0.00

WAM - WAM CAPITAL LIMITED FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
15-May-2023	26-May-2023	Interim	\$0.0775	76,000	\$0.00	\$5,890.00	\$5,890.00	\$2,524.29
17-Oct-2022	28-Oct-2022	Final	\$0.0775	76,000	\$0.00	\$5,890.00	\$5,890.00	\$2,524.29
			Sul	o Total	\$0.00	\$11,780.00	\$11,780.00	\$5,048.58

WBC - WESTPAC BANKING CORP FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
11-May-2023	27-Jun-2023	Interim	\$0.7000	2,951	\$0.00	\$2,065.70	\$2,065.70	\$885.30
17-Nov-2022	20-Dec-2022	Final	\$0.6400	2,951	\$0.00	\$1,888.64	\$1,888.64	\$809.42
			Sub	Total	\$0.00	\$3,954.34	\$3,954.34	\$1,694.72

WDS - WOODSIDE ENERGY FPO (ORDINARY FULLY PAID)

Ex-div date	Payment Date	Type	Dividend per share	Units	Est. Unfranked Amount	Est. Franked Amount	Est. Total Dividend	Est. Franking Credit
08-Mar-2023	05-Apr-2023	Final	\$2.1544	265	\$0.00	\$570.92	\$570.92	\$244.68
08-Sep-2022	06-Oct-2022	Interim	\$1.5995	265	\$0.00	\$423.88	\$423.88	\$181.66
			Sub	Total	\$0.00	\$994.80	\$994.80	\$426.34
			Т	OTAL	\$12,007.43	\$37,250.57	\$49,258.00	\$15,964.51



TRANSACTION SUMMARY

1 JULY 2022 - 30 JUNE 2023

SHARES - 6315762 - HIN 69142249

JM FURBY PTY LTD < JACQUELINE FURBY SF A/C>

Total Buys and Sells	2022 - 2023 Financial Year
Total Buys (inc. Brokerage + GST)	\$0.00
Total Sells (inc. Brokerage + GST)	\$509.35

ANZR - ANZ BANKING GRP LTD RTS FORUS (RIGHTS-APPSCLOSE 15AUG2022 US PROHIBITED)

Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value
04-Aug-2022 Sell		-134	\$3.9500	-\$529.30	\$19.95	\$1.81	39040685	-\$509.35
				Sub Total	\$19.95	\$1.81		-\$509.35

The transaction summary is only able to display information available to us. Transactions regarding corporate actions or stock transfers are not included and can be found on your statements as issued by the company or the share registry. Transactions for Issuer Sponsored holdings are not included in this summary. Links to some of the key share registries can be found below:

Computershare (http://www.computershare.com/au/Pages/default.aspx) Link Market Services (https://investorcentre.linkmarketservices.com.au/Login.aspx/Login) Automic Group Registrars (https://www.automicgroup.com.au/)
Advanced Share Registry Services (http://www.advancedshare.com.au/Home.aspx)

DISCLAIMER

DISCLAIMER
This statement relates to Westpac Share Trading activities which are provided through Westpac Securities Limited ABN 39 087 924 221, AFSL 233723 (Westpac Securities) by Australian Investment Exchange Limited (AUSIEX) ABN 71 076 515 930, AFSL 241400, a Market Participant of ASX Limited and Cobe Australia Pty Ltd, a Clearing Participant of ASX Clear Pty Limited. Information contained in this statement is believed to be accurate at the time the statement is generated. Westpac Securities and its related entities do not accept any liability for any errors or omissions contained in this statement, or any responsibility for any action taken in reliance on this statement. This statement is a summary document only and it is not intended to replace any document which contains information that may be required for taxation purposes. It does not constitute tax advice. Although we can give you information about your accounts, we are unable to give you tax advice. If you need more information to complete your tax return, please consult your accountant or tax adviser to obtain professional tax advice. You should retain your CHESS statements, dividend statements, confirmation contract notes and bank account statements for income tax purposes. If there are any errors in this statement, please contact us on 13 13 31 (within Australia) or +61 2 8241 0208 (outside Australia), Monday to Friday between 8am and 7pm (AEST).